IRk IS T | TeITen I | wRIrE/ drell st HE
wfafg A TAW | ST (erai H)
faauor | favmia B
1 2 3 4 5 6 7

G| e N e o rE | 1.990 | 0.000 1.990
HEE A | WE | 0.550 | 0.000 0.550
HES) AT [EESlWel | AR | 0.162 | 0.000 0.162
qrerst | eiedr [ TrE | 0.500 | 0.000 0.500
S IRIEIE] ArTETS]  |[Hrar Jietdl ToTg 1.690 | 0.528 2.218
qrErel | S [@eHUErR | ¥R | 2.000 | 0.622 oK%
qREEl | 9EErSl  [Maret TEE | 0.800 | 0.000 0.800
fastarer | fastarer |fe=starer TE | 0600 | 0.550 1.150
fosare] | fastarer [ TE | 1.400 | 0.000 1.400
fggErel | STRgX  [@&HqU 37EIE | 0.162 | 0.000 0.162
fogiarel | SRR |[didecrE 37ETE | 0.800 | 0.000 0.800
SRR | SRP  [& A T | 2.000 | 0.028 2.028
SRP | TREP |l TR | 0.700 | 0.000 0.700
HHAdTS] | SHears] | evslie Toms | 1.840 | 0.198 2.038
foeell | Hivcraret [&sT T | 1.030 | 0.000 1.030
EIRL HHeare! [SRare 3T | 0.000 [ 0.110 0.110
EIRLY SR [T 3TEE | 0.650 | 0.770 1.420
et A [dEreT sten| 3w | 0.162 | 0.000 0.162
el Hietare] [USHgS] s/rE | 0.162 | 0.000 0.162
AP | AW IR e | 1.750 | 0.000 1.750
O | ST [TTURTYR e | 1.000 | 0.000 1.000
BIEG] STEYL [Hrere T | 1.500 | 0.022 1.522
Hralel AEP  |fS=en Tgre | 1.000 | 0.132 1.132

aT [22.448 | 2.960 25.408




